
g

NAMIBIA UNIVERSITY
OF SCIENCE AND TECHNOLOGY

FACULTY OF NATURAL RESOURCESANDSPATIAL SCIENCES

DEPARTMENT OF AGRICULTURE AND NATURAL RESOURCES SCIENCES

 

 

 

 

 

 

QUALIFICATION: Bachelor of Agriculture

QUALIFICATION 07BAGR

COURSE CODE: RME620S COURSE NAME: Basic Research Methodology

NQF LEVEL: 6 NQF CREDITS: 10

SESSION: January 2019 PAPER: Theory

DURATION: 3 Hours MARKS: 100   
 

 

SECOND OPPORTUNITY / SUPPLEMENTARY EXAMINATION QUESTION PAPER
 

EXAMINER(S): Mr. Brian J. Mhango
 

MODERATOR: Dr T. Nzuma  

 

INSTRUCTIONS
 

1. Write clearly and legibly.

AnswerALL the Questions

3. Numberthe answersclearly

 

 

PERMISSIBLE MATERIALS
  1. Calculators may be used

 

THIS QUESTION PAPER CONSISTSOF6 PAGES(Including this Front Page)

 

 



Research Methodology RME620S

ANSWERALL QUESTIONSIN THIS SECTION [100 MARKS]

QUESTION 1

With examples, explain how an APAreferencelist can be compiled from Webarticles. [10]

 

QUESTION 2

Briefly, explain the meaningof a peer-reviewedarticle and the processesfollowed in peer-reviewingarticles.

[10]
 

QUESTION 3

According to the APA referencingstyle, explain in-text citations highlighting capitalization, quotes, and

 

italics/underlining, provide an example of how a short quotation would be done. [20]

QUESTION 4

a) What is the name of a diagram or a plot that is used to detect a relationship between two quantitative

variables? (1)

b) Provide a sketch of your diagram namedin (a) above (1)

c) A land use Planner conducted a study to determine whetherthereis a linear relationship between

donations to conservancies (in thousands of dollars) and percent of income donated to nature ©

conservation charities. The data are listed in the table below. Display the data in a scatterplot and

determine the type of correlation. Donations to conservancies (in 1000s), X= 42, 48, 50, 59, 65, 7, and

Donating Percent, Y= 9, 10, 8, 5, 6, 3. (8)

[10]
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QUESTION 5

RME620S

The data below is ungroupedraw data of averagerainfall (mm) frequencies over the last 73 years

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

     

Raw Data Frequency Raw Data Frequency

10 1 75 6

15 2 78 1

28 1 80 3

30 2 82 1

33 1 85 3

40 1 90 4

45 5 95 3

46 1 99 1

50 3 100 1

52 1 105 1

55 3 115 1

58 1 120 2

60 2 125 2

65 8 137 1

68 2 140 1

70 5 145 1

73 1 200 1   
a) Drawa stem andleaf plot of data above the 50th percentile

b) Draw box-whiskerplot of the rainfall over the last 73 years

(5)

(5)

c) Assuming that the rainfall is normally distributed what is the probability of picking a year

with rainfall below 50" percentile of the averagerainfall recorded over the past 73 years?

d) Howmanyyears had averagerainfall of less than 85.5mm?

(5)

(15)

[30]
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QUESTION 6

In the garden pea, yellow cotyledon colour is dominant to green, and inflated pod shape is dominant to the

constricted form. Considering both of thesetraits jointly in self-fertilized dihybrids, the progeny appeared

in the following numbers:

¢ 193 green, inflated

* 184 yellow constricted

¢ 556 yellow,inflated

* 61 green, constricted

Genesaresaid to assort independentlyif the follow the 9:3:3:1 Rule from a dihybrid cross. Based on these

experimental observations answerthefollowing questions:

a) State the appropriate hypotheses (4)

b) Do these genesassort independently? (16)

[20]

 

Supplementary Examination Question Paper Page 4 of 6 January 2019



Research Methodology

APPENDIX 1: STATISTICAL FORMULAS
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